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Baseline

Baseline Rationale

Because the purpose of CSOAPP is to develop and test possible performance enhancements to the Excellus Claims Service architecture, it was necessary to first develop a baseline.  The baseline is representative of the Excellus architecture and contains the architecture’s major components.  Due to the representative nature of the baseline and how closely it represents Excellus’ architecture, it allows the project team to confidently develop the performance enhancements and have some guarantee that these enhancements will scale to a fully developed Excellus system.
For the purpose of this project, the baseline is made up of the various services that make up the entire claim processing service.  In this way, the baseline closely resembles the architectural and communication components of the Excellus architecture.  However, the baseline does not actually implement these components for two reasons.  First, the enhancements that will be made to CSOAPP do not focus on the actual processing of claims.  Because of this, it is not necessary to implement these components because they can assume to have the same processing time all the time.  Secondly, due to the amount time allocated to this project (within the scope of the RIT Senior Project), it would not be feasible to develop the entire claims processing system.
Iteration 1

Recommendation

Provide a recommendation and a short summary of the information below on why or why not this iteration should be implemented.  Be brief and to the point as this may be the only section that is read.
Description

Describe what this iteration entailed and what was done to improve the baseline.
Process

Note any unique problems, technical information, etc about this iteration.  (This includes the use of external tools, hardware added, etc.)
Results

Using the test statistics (but do not include them in this document), provide the analysis of how Iteration 1 did compared to the original baseline.  What improvements were there, what drawbacks occurred and how much performance gain (or loss) actually took place?  (This is also a good spot to include calculated statistics.)  Include, in subsections, the various statistics taken and how they also compared to the baseline if these statistics are relevant.
Analysis

How did Iteration 1 do?  How difficult was it to implement vs. how much performance gain was there?
